63121
First Semester B.Com. Degree Examination,
August/September 2021
(CBCS Scheme)

Commerce

Paper 1.3 - FINANCIAL ACCOUNTING

Time : 3 Hours]| [Max. Marks : 70

Instructions to Candidates : Answer should be written completely either in English or
in Kannada.

SECTION - A/2wn - &

I Answer any FIVE sub-questions. Each sub-question carries 2 marks :

(5 x 2 = 10)

0IRF)TETR acd Z2r9n ev3d2. 3030030, 2 woznieh

> @

(b)

(©)

()

What is short working?
3003 u3F 20TTERO?

Write any two objectives of conversion of single entry system into double
entry system.

DITI0RT IT 3000 Béﬁi:chi) ST FOBSFRITITOHS 0B VT eBrds), 39A0.

Define hire purchase system.
WR BRY) T TFIaDLIY, 59,259,
) d i

List any four accounting standards.
QIR TITT T, SFZR, BB0essriela) SIS,

What do you mean by Dead rent?
3R, WM 20TTeRD?

What is purchase consideration?
RN DFaD WS doBTeR0?

What is pure single entry system?
BT 97 FB0T) SBS H0B3eRO?
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SECTION - B/aweni - @
Answer any THREE questions from the following. Each question carries 6 marks :
(3 x6=18)
0339 WeWT R FRTY ;-.jéiﬁe?ﬁ V302, I3 3D0IRT ougdt% 6 03Ny :

Calculate the cash price of an asset from the following :

Down payment ¥ 3,000, 1st year instalment ¥ 10,350, 2nd year instalment ¥ 9,900
and 3t year instalment ¥ 9,450. Rate of interest at 5% p.a.

81 FYNS IFTNYoT womd e30d v Wdaba) soBd HBOWD :

=00nE QeRB B 0. 3,000, Feoe ars 503 0. 10,350, H0BRBC RAFT T03D
8. 9,900 R3) SopTRe oars 030 TR 9,450, u&gzsd de. 5.

Prepare an analytical table from the following details :

Minimum rent = ¥ 2,000 P.A.

Royality payable =% 5 per kg

Right of recoupment of shortworking first four years

Output during the first four years,

I year — 300 kgs, II year 350 kgs, Il year 400 kgs and IV year 450 kgs.

8 39508 ITVNYOT ToPE IS cams Tk 3R :

5, 2Rt DeaFs =X 2,000

deBduIesas TotIS =T 5 T3 8.2

3003 B00BBRY S B8, - Seuode ey JArM ST Toey, IRFNY VT
I 3= — 300 8.2, II SR 350 $.25. 111 S&F 400 3.28. o3 IV IFrF 450 3.2

Calculate purchase consideration from the following :

(@) 1000 equity shares of ¥ 10 each, issued at a premium of 10%
(b) 1000 preference shares of ¥ 12 each

(c) 1000 10% Debentures of T 10 each @ 2% discount

(d) Cash< 9,000

8 39508 JFTNYo DVeD WSoda) Fomd LBV :

(@) 1000 mI»d, Bedorieo T 10, Indudad 10% 80 0TS,

(b) 1000 BHR> BB Becorien T 12 FwduSabd),

(c) 1000, 10% meB3nLR), 5. 10 S0 tSeobd Be. 2 B0dD0S FIBY,
(d Snweh 9,000 twe. niebd.
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From the following information calculate total purchases.

Opening creditors ¥ 10,000, Cash paid to creditors ¥ 6,400, Goods return to
creditors ¥ 400, B/P issued to creditors ¥ 2,000, Discount allowed by Creditors
% 200, Closing creditors ¥ 8,000, Cash purchase ¥ 3,000.

B FINT SIEINLOT 2.6d), FOR $RITD), For) &HBAVD :

00T FArieb Te. 10,000, AL st Incy de. 6,400, AN word SNy Sema0
dwe. 400, 36833, BooRMY Je@®S Tw. 2,000, ek IricOBROBE) Tue. 200, ¥od3 FARW
gwe. 8,000, 8w ded 3,000.

What are the functions of accounting?

I3503 1 ToodF IPITMYE), IS0

SECTION - C/ %0 - 2

Answer any THREE questions. Each question carries 14 marks : (3 x 14 = 42)
QiR)mBte Suech SIrien eugdl. F30e0x FB 14 ooy :

Indra and Sudha are partners sharing profits in the ratio of 2 : 1 and their
balance sheet on 31-12-2008 was as follows :

Liabilities Rs. Assets Rs.
Capital : Cash 150

Indra 15,000 Bills receivable 2,500

Sudha 10,000 Debtors 30,000
Reserve fund 3,000 Less : RBD 1,500 28,500
Creditors 20,000 Stock 21,850
Bill payable 5,000 Machinery 10,000
Indra Loan 10,000

63,000 63,000

They agreed to sell the business to a limited company and the company to take
over the assets including cash and liability as follows.

Machinery ¥ 8,000, Stock ¥ 17,500, Debtors at ¥ 25,350, Bills Receivable
at ¥ 2,500, Goodwill at T 3,000.

The company agreed to take over creditors at ¥ 19,500. The expenses of
Realisation amounted to ¥ 150. The company paid ¥ 20,000 in fully paid shares
of ¥ 10 each and the balance in cash.

Prepare the necessary ledger accounts in the books of the firm.
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03, T3 BB TLTOELAR) Gyl SFRIRY, 2 1 10 8T, % 0edEeYY3TTL.

Q

31-12-200800%) &S0 &3 S03) w0 B F9T0E08S

(SSEIAC]e o VTR, eried OLR.
WOETY : Rialas) 150
203, 15,000 woems @odridd 2,500
206 10,000 oS 30,000
B 3,000 @o@me 1,500 28,500
2Oco 20,000 W & 21850
Bnrdesor Boolrish 5,000  obedeesson 10,000
90T, To© 10,000
63,000 63,000

208, BB DT 3IV) TewwdT FoZoba) FoZARN TOIFAE BT0sH, B FITRE
BOBITIVY, BRABEV WHTT.

obodpese0s dn. 8,000, mma da 17,500, momeddy dw. 25,350, wdiesn
®BooRred Te. 2,500, dedr S5°¢; de. 3,000,

30803 B03R0d WENTY, Se. 19,5007 IASEeged Ly, ASemD Bi3, Be. 150
goBRodn T, 20,000M¢R), Te. 10 Snaeidald Zecordd, B ovdd wasodsy SHT
CRTTE, ST,

Jenwa0F Zo3 0 wﬁ:%md mm‘q 3ainda.

@ ™
On 1.1.2000 N.M. Rao obtained a mining lease on the terms that a royality
of ¥ 8 per ton.
Minimum rent ¥ 40,000 p.a.

The recovery of shortworking was limited to a period of first four years of the
lease following information is given :

Years Output in tons

2000 4000
2001 4500
2002 5400
2003 6500

Prepare necessary ledger accounts in the books of N.M. Rao.
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1.1.200000%0 of.a305. 0oy @0y 2080 w@lr! Se. 8 CUod meupawod r\bi?;rﬂcnbaigl
DBV, T&FT TF, walrt Te. 40,000.

Secen Do), SBrned @ w%zdisagl %05 0HBOIF IRLIoiL S B0 ¢

SR ov3g

2000 4000
2001 4500
2002 5400
2003 6500
. DRB°. 005 OTT FZTTY uﬁéﬁé’)tﬁod 531 3aind.

Mr. Harish purchased a machinery on hire purchase system. The total cash price
of the machine was 159800, payable ¥ 40,000 Down payment and 3 instalments
of ¥ 60,000, T 50,000 and T 20,000 payable at the end of first, second and third
year respectively. Interest is charged at 5% p.a. Rate of Depreciation 25% p.a. on
diminishing balance method. Pass necessary journal entries in the books of
Mr. Harish.

. B0 ot aboIIay, it FAWOE BFI0HA, BEBURT. AZH k), TR S
Te. 1598007) 8 $¥gomod TR TN,

de. 40,000 abe3SRy SBcdTN 8B TI3 [oedy Fosorivd Bw. 60,000, worde Fod
Secen SFFW 8038 0. 50,000 HUERe F03> HOESe IRFT V0ITE, 303y A, 20,000

Se0d¢ 502 TR0 SIFB 03B WABBT TAFT Be. 5 3TFY B0 HeaFT e 25 2O
243 In3abd oI5, B TIT F)FFEY ¥[ZITHI 0 TIWTONTRY, wS0D.

Mr. Gajanana keeps his books by single entry system. From the following data,
Prepare trading and P/L A/c for the year ending 31-12-2015 together with
balance sheet as on that date.

Cash book analysis show the following :

3
Interest charges 200
Personal withdrawals 4,000
Salaries 17,000
Business expenses 15,800
Payment to creditors 30,000
Balance at bank on 31.12.2015 4,850
Cash on hand on 31.12.2015 150
Receipts from debtors 50,000
Cash sales 30,000
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Further details available are :
11,2015 31. 122005

o e
Stock 18,000 20,440
Creditors 16,000 11,000
Debtors 44,000 60,000
Furniture 2,000 2,000

Machinery 30,000 30,000

Provide 5% interest on Mr. Gajanana'’s capital as on 1.1.2015. Provide 3000 for
doubtful debts and 5% depreciation on all fixed assets.
. rzss Bt 33 JFTrdE) o8 IS Zm0 230080, B FYI 3200 ST

31-12—20156& eo:%aarb:&oé Qad =3 g ﬁag méﬁeiai%t ond edn e muam&
5%@&;3@3&&
®T0 IR @gssqswm = 29haE mosnieh) 308D WOBR).

T
WB TP, 200
ﬁao:rs DWOF 4 000
E{ AL 17,000
mﬁmdcﬁ DWOF 15,800
(nfVALZAR-NCL o 30,000
w%oéai 8o, 31.12.2015 4,850
3,009 003 dnwy 31.12.2015 150
2EIRPOT WORBY, 50,000
/NSO IPTE3 30,000

238 BRTB0IVST S&Sne S Ded = -

1.1.2015 ST

L4 4
AREDIN] 18,000 20,440
BANYO 16,000 11,000
abedrieh 44,000 60,000
SeBRCTTT D 2,000 2,000
odog,riehd 30,000 30,000

1.1.201550z)> 2G0E 2. MeRTs =T woEmes e de. 5008 B IHBOL, Weie Jed
AoBodREE QMR G, 3000w IABBY By S, 4oeNY Hoed Be. 5003 FFTOADR),
3o,

Explain the users of accounting information.
S5Z0R T S0é&300 VT 0IRENTITT il IS0
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